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SEfbORE | ERES | 15981008 | Elhiea \ iE/H | FriEdh KET = REETEE KR/ H
SERMO TinICHEET S ZER A
ﬁ,ﬁg TREOBEBOSILHOKRES ITREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
9 100kN/m##8% % 1.00{ 0.00 ~ 0.23 103.36| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.68 ~ 11.33 103.36| 3m%x#B 25 =l ~ - - =
s 1.00]0.23 ~ 8.01 100.00f Z=hkl4t+ |0.00 ~ 8.01] 2.10 11.26 s 1.00f 5.00 ~ 10.68 100.00f Zh 4t | 5.00 ~ 11.33| 2.10 11.26
3 100kN/m##8 %% 1.00|0.00 ~ 0.91 113.62| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 10.67 ~ 13.33 113.62| 3m%x#B25 =l ~ - - =
s 1.00{ 091 ~ 8.69 100.00f Z=hkl4t | 0.00 ~ 8.69| 227 12.16 s 1.00f 5.00 ~ 10.67 100.00f Z=hl4t+ | 5.00 ~ 13.33| 2.27 12.16
4 100kN/m##8 %% 1.00{ 0.00 ~ 0.28 104.10| 3m%#B 25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.59 ~ 11.33 104.10| 3m%#B 25 =l ~ - - =
s 1.00{0.28 ~ 8.06 100.00f Zhkl9t | 0.00 ~ 8.06| 2.24 12.01 s 1.00f 5.00 ~ 10.59 100.00f Zhl4t | 5.00 ~ 11.33| 2.24 12.01
5 100kN/m##8 %% 1.00{ 0.00 ~ 0.25 103.74| 3m%x#B 25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.53 ~ 11.21 103.74| 3m%#B 25 =l ~ - - =
s 1.00{0.25 ~ 8.04 100.00f Zhkl4t |0.00 ~ 8.04] 2.20 11.79 s 1.00f 5.00 ~ 10.53 100.00f Zhl4t | 5.00 ~ 11.21| 2.20 11.79
6 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 476 59.35| #h L4t |0.00 ~ 4.76| 1.76 9.45 s 1.00f 500 ~ 5.00 59.35[ #hLl4t | 5.00 ~ 500 1.76 9.45
7 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 4.77 59.48| FhLlst | 000 ~ 477 1.74 9.34 s 1.00f 500 ~ 5.00 5948 #hLlst | 500 ~ 500 1.74 9.34
8 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 5.02 62.57| =h L4t 1000 ~ 5.02| 1.57 8.38 st 1.00f 500 ~ 5.76 62.57| =hLl4+ | 5.00 ~ 576| 1.57 8.38
12 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 5.76 71.98| #hLlst | 000 ~ 576| 2.02 10.80 st 1.00f 500 ~ 7.48 71.98 #hlst | 500 ~ 748 2.02 10.80
13 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00] 0.00 ~ 4381 59.93| #hLlst |0.00 ~ 4.81| 2.30 12.33 s 1.00f 500 ~ 8.40 59.93| #h L4t | 5.00 ~ 840 2.30 12.33
14 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{ 0.00 ~ 3.67 46.31| =#Ls | 000 ~ 3.67| 2.56 13.68 st 1.00f 500 ~ 9.01 46.31| =nkst | 500 ~ 9.01| 256 13.68
15 100kN/mM%#BZ 5 -l -~ = -|3mEBZ S -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.97 88.30| #n L4t |0.00 ~ 6.97| 1.97 10.55 st 1.00f 500 ~ 9.56 88.30| =#List | 500 ~ 9.56| 1.97 10.55
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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